Mammalian Anatomy & Physiology BIOL268


EXAM 4 
NAME:


INSTRUCTIONS:

1.  Place ANSWERS (Multiple Choice - Capital Letters PLEASE) in the appropriate blank on the exam next to each question. Please type in your short word answers on the exam.

2. Graded exams will be returned via email. 

3.  Your answer will not count if I cannot read it.  Please write clearly!

4.  Make sure you place your name on the exam.
5.  Relax and GOOD LUCK!   


PART ONE - MULTIPLE CHOICE (choose the best answer) (75 points)
1) Muscle tissue, one of the four basic tissue groups, consists chiefly of cells that are highly specialized for

A) conduction.  B) contraction.  C) peristalsis.   D) cushioning.  E) secretion.

ANSWER:


2) Which of the following is a recognized function of skeletal muscle?

A) produce movement   B) maintain posture

C) maintain body temperature         D) guard body entrances and exits

E) All of the answers are correct.

ANSWER:


3. Interactions between actin and myosin filaments of the sarcomere are responsible for

A) muscle fatigue.

B) the conduction of neural stimulation to the muscle fiber.

C) muscle contraction.       D) muscle relaxation.

E) the striped appearance of skeletal muscle.

ANSWER:


4. The advantage of having many nuclei in a skeletal muscle fiber is the ability to

A) contract much more forcefully.             B) produce more ATP with little oxygen.

C) store extra DNA for metabolism.          D) produce large amounts of muscle proteins.

E) produce nutrients for muscle contraction.

ANSWER:
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5. The repeating unit of a skeletal muscle fiber is the

A) sarcolemma.   B) sarcomere.   C) sarcoplasmic reticulum.

D) myofibril.    E) myofilament.

ANSWER:


6. The plasma membrane of a skeletal muscle fiber is called the

A) sarcolemma. B) sarcomere. C) sarcosome.  D) sarcoplasmic reticulum. E) sarcoplasm.

ANSWER:


7. Which of the following best describes the term sarcoplasmic reticulum?

A) protein that accounts for elasticity of resting muscle

B) repeating unit of striated myofibrils

C) storage and release site for calcium ions

D) thin filaments are anchored here

E) largely made of myosin molecules

ANSWER:


8. The narrow space between the synaptic terminal and the muscle fiber is the

A) synaptic knob.     B) motor end plate.    C) motor unit.     D) synaptic cleft.   E) M line.

ANSWER:


9.  The end of a muscle that is attached to the point that moves when the muscle contracts is called the

A) origin.    B) aponeurosis.     C) insertion.     D) tendon.       E) lever.

ANSWER:


10. The end of a muscle that remains stationary when the muscle contracts is called the

A) origin.     B) aponeurosis.     C) insertion.     D) tendon.     E) lever.

ANSWER:


11. A type of muscle whose action opposes that of another muscle is called a(n)

A) synergist.   B) fixator.    C) agonist.    D) prime mover.    E) antagonist.

ANSWER:


12. The spinal cord is part of the ________ nervous system.

A) peripheral     B) somatic       C) central      D) autonomic       E) afferent

ANSWER:


13. Spinal nerves are

A) purely sensory.   B) purely motor.     C) both sensory and motor.

D) interneuronal.       E) involuntary.

ANSWER:


14. The tough, fibrous, outermost covering of the spinal cord is the

A) arachnoid mater.    B) pia mater.    C) dura mater.

D) coccygeal ligament.        E) periosteum.

ANSWER:


15. Which of the following is not true of meningitis?

A) Inflammation of the meninges occurs.          B) Bacteria can be the cause.

C) Viruses can be the cause.        D) CSF flow can be disrupted.

E) It only affects spinal meninges.

ANSWER:


16. The condition in which a person loses all feeling and movement of the arms and legs due to spinal cord injury is termed

A) paraplegia.     B) hemiplegia.     C) spinal shock.      D) quadriplegia.    

E) spinal transection.

ANSWER:


17. Which of these is not one of the main divisions of the adult brain?

A) cerebrum     B) diencephalon     C) prosencephalon     D) brainstem   E) cerebellum

ANSWER:


18.  Sensory information is processed and relayed to the cerebrum by the

A) medulla oblongata.      B) pons.        C) midbrain.
D) thalamus.                               E) cerebellum.

ANSWER:
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19. As you ascend from the medulla oblongata to the cerebrum, the functions of each successive level become

A) more complex.       B) simpler.

C) better understood.        D) more crucial to visceral functions.

E) critical to reflexes.

ANSWER:


20. The ________ provides the principal link between the nervous and endocrine systems.

A) cerebellum    B) medulla oblongata    C) cerebrum    D) pons    E) hypothalamus
ANSWER:


21. When you perform a physical activity that you have not done in a while, such as riding a bike, which area of your brain coordinates your movements with learned experiences?

A) thalamus    B) pons      C) midbrain     D) cerebellum       E) medulla oblongata
ANSWER:


22. The sensory receptors, neurons and pathways make up the ________ division of the nervous system.

A) voluntary     B) efferent      C) afferent      D) involuntary      E) somatic

ANSWER:


23. Using the two-point discrimination test you can fairly accurately determine whether you have been touched with one point or two because of the density of the

A) effectors.    B) perception.     C) labeled line.     D) receptor fields. E) action potential.

ANSWER:


24. The ________ division of the autonomic nervous system is said to function during "rest and digest."

A) sympathetic   B) parasympathetic    C) thoracolumbar D) visceral   E) somatomotor

ANSWER:


25. A pedestrian narrowly avoids being hit by an oncoming car. He notices that it takes a little while for his heart rate and respiratory rate to return to normal. This is likely because

A) the parasympathetic nervous system has become activated.

B) sympathetic activation of the adrenal medulla has released epinephrine and norepinephrine into the bloodstream.

C) the splanchnic nerves have become activated.

D) somatic motor neurons have increased the heart and respiratory rate.

E) the corticospinal pathway has become activated.

ANSWER:


PART TWO (LAB) – (25 points)
Pick 2 regions of the human body from the list below (head, neck, torso, upper limb, or lower limb) and discuss each muscle, origin, insertion, innervations, and blood supply for each muscle within each group. Please feel free to insert images and/or internet links to support your answers. Good luck!
· 1Head
· 1.1Forehead/eyelid
· 1.2Extraocular muscles
· 1.3Ear
· 1.4Nose
· 1.5Mouth
· 1.6Mastication
· 1.7Tongue
· 1.7.1Extrinsic muscle
· 1.7.2Intrinsic
· 1.8Soft palate
· 1.9Pharynx
· 1.10Larynx
· 2Neck
· 2.1Clavicular
· 2.2Suprahyoid
· 2.3Infrahyoid
· 2.4Neck
· 2.4.1Anterior
· 2.4.2Lateral
· 2.4.3Posterior
· 3Torso
· 3.1Back
· 3.2Chest
· 3.3Abdomen
· 3.4Pelvis
· 3.5Perineum
· 4Upper limbs
· 4.1Vertebral column
· 4.2Thoracic walls
· 4.3Shoulder
· 4.4Arm
· 4.4.1Anterior compartment
· 4.4.2Posterior compartment
· 4.5Forearm
· 4.5.1Anterior compartment
· 4.5.1.1Superficial
· 4.5.1.2Deep
· 4.5.2Posterior compartment
· 4.5.2.1Superficial
· 4.5.2.2Deep
· 4.6Hand
· 4.6.1Lateral volar
· 4.6.1.1Thenar
· 4.6.2Medial volar
· 4.6.3Intermediate
· 5Lower limb
· 5.1Iliac region
· 5.2Gluteal
· 5.3Thigh
· 5.3.1Anterior compartment
· 5.3.2Posterior compartment/hamstring
· 5.3.3Medial compartment
· 5.4Leg
· 5.4.1Anterior compartment
· 5.4.2Posterior compartment
· 5.4.2.1Superficial
· 5.4.2.2Deep
· 5.4.3Lateral compartment
· 5.5Foot
· 5.5.1Dorsal
· 5.5.2Plantar
· 5.5.2.1First layer
· 5.5.2.2Second layer
· 5.5.2.3Third layer
5.5.2.4Fourth layer
